SEFEMEBEEESR
B (RERAM 1) \REBFRLE




TS FEEFEIRTEMEEEESR

o e = HRE
15 SMZFhFEERAR ) N\REFEMLE

Amt

PO

O - -siEERY
- REREMERT




AN
T

0

=2
oFk

== ke

R

=
=

SHEEFEIRTFEMEEEES
15 BEN=dh FRERAM ) \REBFLE

EEEX

B F B H B =
BN RERAE D
IBEH AABEFLEEETE
BET FEERTERASH DHGHE BF @A
OB AME FERTENERERHEMNDTHNEO—H w\ HEHEEET
B ER 14. 94nd i
i B
Bk fE 15 L (£225 R18)
B EE
- ~ L - . rap—
EEMRLG Y| E—EEEHEK GIm) - — 5B %4?%1%]%5@%
Luy EEERE 200% TSN T =
- JmEEEE | 60% —
IEmy | HE 8 SEETERE
- BMER | SRBEFLE -
_— ERRIJIER
= e BRE
BHEE
BEM 1 -
BEO®S | 3.08m <
Homs 2.916m SEEER
266.5 6,567 266. 5
BEER 4.83ni = 5 &
Yoo
E~EH 11.85ni = = 2
BEMER et gl
BE 32.32% AN BEOHO®E  2.916n | w0
& =~ BRE0&ES 3. 044m v
R 79.31% 3 y =
B r——— = i o FTAFTLR S
" BfER & 2
x TR KEARETS S |
& BEMOHFEE 6 £
5 ARICESEEERBES LS, =
K
TOMER L, WL, ERECEET 5. o 2
- RERRR~BA—T~RER & EESR o B
R EORM WHAN : 58~22 : 40 (FH). 5 : 54~22 : 27 (£4KH) : =




TS HF

Vs

=ES

i3
]

%3EFRTREFES

=
=

BNt FREFRAM ) SR ERFEE

- 3L - B X

- BB R LtEREEETY
SRRRRN, aouow.-gm
s\ [€X0) &0 D gi
[ | 2—— |
5 &
&
= (8|2
o~ Sl
| - — AR
1
283.5 3,000 | 3,000 2835 | T e
6,567
3 7,100
S SEEHR
\73 — ) — - T
. 2o % T Oh 3
IR 3 R N
b 4 (%7 ‘ f tl\@m
o{EME |
€85 1
&Niﬁ L
g [T ‘ ‘ ]
> _
¥ i
Luf ]| | |
= 2835 3,000 L 3,000 183,
6,567
7,100
B R KR B|s=1/50)
6,567
-
A=
o | oW
U
| = 4|
w eln Ed
| | hE
s|elg
HEH w
Yy
I . : || _ VHER a— | o |
\ AEEE I i
el 2 (. | I | o N
283.5 3,000 3,000 1835
6,567

TEE(SEELYORE) | (550

2, 300
2,105
2,000 105
NS—TINIAES0.61) 1,805 195
EfE: JAVAE XEE:A 80
ot W 100_ 355 355 355 355 480
BEES NI-8304
MAFr YT (Vi) 1
(7L S L##H)
2
o
=
] o
———2
Z Y VH—R-1)
Hh3—7NEE£(1.0)
| BE[D-15:45:3.2t) (STKR-400)
JOUXBE 1
B AL/ —)
(7 L= W LIH) ol ol <
B2 4 (¢ 60x2. O1) (S)Ls8—) 8l 3 3
(ZILSWHELEH) ol al =
N X (6139, 8x6t) (STK-400)
3 PP w
S - o
o w| &
U BE| | hE
[l 1 el g e
ER \E ﬁ % 2| pE| e
® o) 5 | o] o
7 F
A SHEEIIEE 5 265 15
R HEIEA 5,830 J—
1,805 195|300 =
495
FEIKEETATTIE HEE ))-MEEH ] TRE| /[ @RI
KA hwil 180
2
Z Slv siE
3 EERNNY
M R ; 5l o
(8=1/25) 3
300
50 200 _ 50 ¢ 20 Z
y 1,200 300 st
S A = [>=7% bio@ioo
o 1.:500 £ f 4-D13
1,200 300 R—2% DI13@200
ol o i e = =
Q8 [
o | —= 2
wn
o
BPL Ot i =
RPL 6t + -
A.BORT 4-M16 o
w
o
—_— 4
AR (8=1/10) vy




4M 6 FEEIATEDRERES -
BEF1E EN-h@EERAA )\ REBHLE >E5R




%WSEE%SE?%$Eﬁ$EA AIEE S A
BEF1E BMN-DP@EERAR ) N \XEZFRLE EER

ERBER QSPNEATREEBEGE (GTEEEFR407S)
11858

BEEEAREA4XKE F2S CSIEATE%E
I8H b ST fms
(1) | BRI EBIRER/ N RIEBPA LETH D, O

TEMEBISSAFIEEDERIESE [\RIF&PTLERE] (C

BHET 3. O
SRR WSO S S—
N BB REMERIT 88, FEmEnsRAT
EEDBERIEE [\ ERFHICHRINT B3R5 [CBES _
%O
@) | FEDEENR RS REa C REERT LT3, o |emsEsgoons

ZDMORCHIR




FTETEEEESR
5 =M= GFREERAE ) NR{EEBRTLE

o1
Ay
"
i
A
ot [o]

0
i
qr
ot

S
(I e

h =

il
-




